
KIT CONTENTS 

MUTANT Base Kit Contents 
1 Fixed Plate  
1 Mobile Plate 
1 Fixed Plate Accessory Bag 
1 Mobile Plate Accessory Bag 

MUTANT Quad Contents 
1 Fixed Plate  
3 Mobile Plates 
1 Fixed Plate Accessory Bag 
3 Mobile Plate Accessory Bags 

Fixed Plate Accessory Bag Contents 
Wham Bam Sticker 
Thank You Note / Instructions

Wire Label Stickers  
2 Mini Screw Drivers, one cross, one flat

1.5 mm Hex Driver for PCB cover screws

1pc	 PC4-M10 Wham Bam All Metal Pneumatic Coupler 

1pc	 Coupler Collar

1pc	 PC4-M6 Wham Bam All Metal Pneumatic Coupler 

1pc	 Coupler Collar 
3pcs	 Zip Ties

2pcs	 Heat Shrink Tubing

2pcs	 Nylon Mesh Cover

2pcs	 M3 x 6 dome head screws (to mount the Fixed Plate to Interface Plate)

2pcs	 M3 x 10 dome head screws (to mount the Fixed Plate to Interface Plate)

5pcs	 M3 threaded heat press inserts

4pcs	 M3 x 8 countersunk screws (to mount Interface Plate to X Gantry Plate) 

1pcs	 M5 x 30 countersunk screws (to mount Interface Plate to X Gantry Plate)


Mobile Plate Accessory Bag Contents 
Wire Label Stickers 

MK8 Hot End Stand Off

Creality Shroud Mount 
3pcs	 Zip Ties to fix wires to Mobile Plate PCB Cover  
2pcs	 Heat Shrink Tubing 
2pcs	 Nylon Mesh Cover 

For mounting accessories to Mobile Plate:

18pcs	 M3 Square Nuts  
4pcs	 M3 X 6 screws 
6pcs	 M3 X 10 screws 
4pcs	 M3 X 15 screws

4pcs	 M3 X 20 screws 
2pcs	 M3 x 25 dome head screws


